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Suummary

# Position vector of a point P(x. v, 7) is given as- OP(= )= xi + v}‘ + 7k . and 1ts

magnitude by \/_r“’ + 27

® The scalar components of a yector are-its direction ratios, and represent its
projections along the respective axes.

® The magnitude (7). direction ratios («, b, ¢) and direction cosines (/. m. n) of
any vector are related as:
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* The vector sum of the three sides of a triangle taken in order 1s (.
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The position vector of a point R dividing a line segment joining the poin
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The <calar product of two given vectors @ and b having angle 0 between
them 1s defined as
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